WMFE810-V3

User s Manual V3.11

WEEE-Reg.: DE 937 100 87

Written by: Frank Chen
Technical Data: Zhou, Zhuoli

Approval by: Frank Chen

Neuss, Jan.14.2010



Index
1. ProduCt OULIOOK ......cc.ooiiiiieie e 3
2. Mechanical draWing ..o 3
3. EXPIOring DIaWING ......ccoueiiiiiieee ettt eeta e nna e esnaeanee e 4
A, DESION TEATUIES.....cciieiee ettt et e st e e e be e s teesreeaneeaneeenes 4
A1 FIONTUSB ..ot E e R n R n Rt n e 4
4.2 LOCKADIE TrONT PANEH ..ottt bttt b ne e e sreenen 4
4.3 Easy removable and Washabhle FIlTEI...........oiiiice ettt et sreeneas 4
4.4 Quick and easier replacement hot Swappable Fan module ..o 4
4.5 Anti-vibration card NOIAING GESIGN ....c.veviiiiiieiseree et s et ae e neene s 4
4.6 PS2 and SFX metal POWET A0APLET......c..iuiirieiiieteeee ettt ettt nnenes 4
4.7 8slots or 10 slots full size wall mount chassis (in Utility Pack) ..........ccceoiiriiiiiie e 5
5. SPECITICALIONS ... .eeieiieiee ettt et esr e et e e teesbeesneesneeaneeens 5
B.  AACCESSOTIES ...ttt iteeie st ettt b ettt b et b et b e bt e s e e be et e e bt e be e bt e b e e nbenbeeneenrens 5
TR A Yo = Vo USRS 5
I O] 11 (<] TSRS U ST URURUPPTORON 5
7. OPUONAI BCCESSONIES ...cuvieieeiee ettt see e e e se e e et e e be e reesneeanneeteesreesreeaneeans 6
8. MOUNEING GUIR......oiiieiiee et sb e e sree e 6
8.1 slot card holding Clamp : WIMFBLO-V3 ..ottt sttt st sttt s besre e s e naesreenean 6
8.2 Manual adjustment according to the height of the SIOt Cards. .........ccooeviiiiiiiei e 7
8.3 SIOL CAMA NOIABE ...ttt bbbt bbbt e bttt et et e et e b s 7
SR Y 101 (1 =L o] T (=T o o OSSPSR 7
8.5 Card NOIAING PROTO. ... ettt bbbt eb ettt nn e 7
I O La] [l o] T g =Tox (o] o F SO SU TP TO PSP 7
9. Passive Backplane SUPPOITEd ..........coviiieiiieiiecee e 7
0.1 PCIMG 1.3 BACKPIANE ... .euveieeeieiecieeiiee ettt te ettt e s teese et et e e teess et e saaeseessestesseessesaesseaneeneeneesseanean 7
0.2 PCIMG 1.0 BACKPIANE .....cuvecvieeieiecteeiee ettt sttt et e st e e sa et e beesaesa et e s aaenee e e stesseassesaesseaneeneeneesennrean 8
10. Active backplane SUPPOITEd ..........ooviiiieiiecie e 8
I oV T U o] ] SRS 9
2. FAQ oottt ettt ettt ettt ettt ettt ettt 9
a. Isthat possible for wall mount chassis configured as a raid SYSTEM?...........ccceveiiiiiineieineeeee e 9
D, Why SFX POWET SUPPIY SUPPOIT? ...ttt bbbttt b e an e 9
c. Can we remove one side of the holding ClaMPS? .....c..oiiiiii e 9
13. Order INFOrmMatioN ..........ccooiii i e 9



1. Product outlook

Wiy
Wiy

2. Mechanical drawing

t ‘ (THITMIN I LIHIINI) . .
364 =15 (] h [t 7
329_3 i\ 1 001 O 0 ﬁ 2 i
g T |eeereeiied i, .
X g v
ol 418
A
Ll il
14— b I e ’ .
? 89 =L, . |onaeg a +
. . e Hﬂ.& B=1 . .
: L LE e — =
Lt 0 B o | B e
010 345
o a
=
¥ T - %
R
. [g Unit:mm




3. Exploring Drawing

4. Design features

4.1 Front USB

4.2 Lockable front panel

Wiy 3
\\\\\\_\\uml\‘\ o
]

4.3 Easy removable and washable filter

4.4 Quick and easier replacement hot
Swappable Fan module

4.5 Anti-vibration card holding design

46 PS2and SFX metal power adapter

&7

MPA-03




CJ KQCER

chassis (in utility pack)

4.7 8 slots or 10 slots full size wall mount

WMB-801 WMB-1001

5. Specifications

Gross Weight : 10 Kgs

Se o o0 o

6. Accessories

6.1 Utility pack

Slot : 8/10-slot full size wall mount chassis
Construction : All heavz-duty steel, AWG 18 Standard ,SGCC
Filter : easy removable and washable filter
Driver : 1x5,25”,1x3,5” & 1x3,5” HDD ( internal )

Ventilation : one 12 cm Hot swapable cooling fan with air filter
Dimension : 331(H) x 200(W) x 418 (D) mm

Colour : RAL-7035 light gray

WMF810 FE &Ykt

BF (Foot) dpes
WME-0E801 lpc=
FEEHE (Cable Tied dpes
FEhiL (Crounding Cable) lpcs
FEEMHESEEE (Cable Mourt) 2peos
Bk (A fREE (Spacer) 23pcs
M3*5 REound Head HW-C. M3x5 (MSE) 23pcs
Fe32x5 Hex HW-C. 8o32%5 (POWER) Epcs
M3%5 Flat Head [ CDEOM, FLOFPY, HDD ) l&pes |

1 —

SW=6mm

B=Smm, 693245

L=6. Sam

C=5mm, M3 £8 7 "NBOSOT

6.2 Contents

M3 * 5 Round Head (M/B,

BP) 7pcs

M3 * 5 Flat Head (CD-Rom,
Floppy, HDD) 8pcs

6 @ 32 * 5 Hex (Power) 8pcs




Spacer 7pcs Cable Tie 4pcs
Cable Mount  2pcs

WMF-FTO01

Distance-screw-CPS02 HSF02

(see Spacer)

Grounding Cable

SW=6mm
B = gmm, {5

Al

7. Optional accessories

® Standard built in ATX power switch, option AT power switch (order product code

SW-R-810-001)

W-R-810-001

® SFX MPAO4

8. Mounting Guide.




) KACER

8.2 Manual adjustment according to the height of the Slot cards.

8.6 Cable connection

8.4 Ventilation design

Hot swappable fan module

Front USB

Frontpanel Controller

System fan 4 pins conn.

9. Passive Backplane supported

9.1 PCIMG 1.3 Backplane

PE-9S

e

SPEX-9S




/

BBBBB

H l IHI lﬂ M Hé

PPPPPP



http://www.kacer.com/product/back_plane/PCI_ISA/thumb/PCI-10S-400.gif�
http://www.kacer.com/product/back_plane/PCI_ISA/thumb/PCI-10S2-350.gif�

&,

1l

o | i ——)

1

11.Power supply

Standard PS2, SFX PS or PS2 mini redundant PS

12.FAQ

a. Isthat possible for wall mount chassis configured as a raid system?

A Yes,

see reference picture.

b.  Why SFX power supply support?
A: In some application, take SFX power supply is more convient for integrators such

as anti-vibration card holding issue.

c. Can we remove one side of the holding clamps?

A: yes, integrators can easily remove it and holding clamps still work fine.

see reference picture.

13.0rder Information

WMF810-V3

Micro ATX wall mount chassis

MPAO4

SFX Power supply Metal plate

Power supply

Chose one from SFX, PS2 or mini redundant PS

KACER



	1. Product outlook
	2. Mechanical drawing
	3. Exploring Drawing
	4. Design features
	4.1 Front USB  
	4.2 Lockable front panel 
	4.3 Easy removable and washable filter
	4.4 Quick and easier replacement hot Swappable Fan module  
	4.5 Anti-vibration card holding design
	4.6 PS2 and SFX metal power adapter
	4.7 8 slots or 10 slots full size wall mount chassis (in utility pack)

	5. Specifications
	6. Accessories
	6.1 Utility pack
	6.2 Contents

	7. Optional accessories
	8. Mounting Guide.
	8.1 slot card holding Clamp : WMF810-V3
	8.2 Manual adjustment according to the height of the Slot cards.
	8.3 Card holding photo
	8.4 Cable connection

	9. Passive Backplane supported
	9.1 PCIMG 1.3 Backplane
	9.2 PCIMG 1.0 Backplane

	10. Active backplane supported
	11. Power supply
	12. FAQ
	a. Is that possible for wall mount chassis configured as a raid system?
	b. Why SFX power supply support?
	c. Can we remove one side of the holding clamps?

	13. Order Information

